
A-A  ( 1:20 )

This is a computer aided drawing and must not be altered manually

T
h
is
 d
o
cu

m
e
n
t 
a
n
d
 a
ll 
in
fo
rm

a
ti
o
n
 a
n
d
 d
a
ta
 d
is
cl
o
se
d
 h
e
re
in
 o
r 
h
e
re
w
it
h
 a
re
 t
h
e
 c
o
n
fi
d
e
n
ti
a
l 
a
n
d
 p
ro
p
ri
e
ta
ry
 p
ro
p
e
rt
y 
o
f 
G
LE

IP
N
IR
 A
S
 

a
n
d
 a
re
 n
o
t 
to
 b
e
 u
se
d
, 
re
p
ro
d
u
ce
d
 o
r 
d
is
cl
o
se
d
 i
n
 w

h
o
le
 o
r 
in
 p
a
rt
 b
y
 o
r 
to
 a
n
yo

n
e
 w

it
h
o
u
t 
th
e
 w

ri
tt
e
n
 p
e
rm

is
si
o
n
 o
f 
G
LE

IP
N
IR

 A
S
. 

C
o
n
tr
a
ve

n
ti
o
n
 w

ill
 b
e
 p
ro
se
cu

te
d
.

 
Longhammerveien 7

5536 Haugesund - Norway
 

post@gleipnir.no
www.gleipnir.no

 

Lead Block Pivotal
with tail roller fairlead / for ø54mm wire

Max wire pull 60 T / 600 kN 

Sheet size: Scale:

Drwg. No.:
2150-0002

Title:

Reference: Sheet:     of

Rev.:

Repl. for: Repl. by:

Projection: Gen. Tol.: Gen. Weld.: Gen. Roughness:

NS-ISO 2768-1m NS-EN 287-1 / 288

CAD REF: T:\Gleipnir\Teiknings arkiv\Assembly\2100 Lead Blocks\2150 Pivot Lead Block\Arbeidstegninger\2150-0002.idw

 1:20

1 1

0

A2

A A
0 kgGr 8 HDGDIN 934Nut hex M161620

0,2 kgGr 8.8 HDGDIN 931Bolt hex head M16 x 801619

392,7 kgS355 J2G32210-0003Roller fairlead tail118

250 kgS235 J2G390-0028Counterweight217

0,3 kgA4DIN 935Nut hex slotted M30416

3,5 kgW 1.441811-0019Bearing pin custom215

2,8 kgComposite90-0031Guide roller214

0 kgGr 8NL 24 HDGWasher Nord-Lock M241613

0,3 kgGr 8.8 HDGDIN 933Bolt hex head M24 x 601612

1,8 kgS355 J2G316-0003Axle holder ø220 pin411

117,1 kgS355 J2G311-0016Bearing Pin Custom110

566,4 kg 09-0006-54Sheave heavy duty ø1280 x PCD117019

0 kgGr 8NL 16 HDGWasher Nord-Lock M16448

0,2 kgGr 8.8 HDGDIN 933Bolt hex head M16 x 80127

46,7 kgS355 J2G390-0029Backing plate16

1450,1 kgS355 J2G375-0001Lead Block Pivotal head15

52,1 kg 22-0014Bearing Journal14

62,6 kg 22-0013Bearing journal13

0 kgGr 8.8DIN 913Screw set hex socket M12 x 1622

1894,7 kgS355 J2G375-0005Lead block pivotal foundation11

MassMaterialDesignationDescriptionQtyItem

3
°

3
°

Max 60 T / 600 kN Pull

1
0
°

1
0
°

Max fleet angle

Max fleet angle

60° 60
°

Max Swing
60° in both directions

1200

355

1865,5

2450,5

5
4
0

2505,5

1
0
5
0

8
0

80

1
1
7
0

P
C
D
 n

n
1
2
8
0

145

1
2
2
5

7
1
5

7
5

2
1
0

3
1
0

4
1
0

5
1
0

6
0
5

7
0
0

8
0
0

9
0
0

1
0
0
0

1
1
3
5

108

216

340

450

1
0
5
0

1200

4
0

Bolting Pattern

1

3

24
5

6

7

8

9

10 11 12 13

14 15 16

17

18

19 20 8

12 13

n
38

(M
ou
nt
 w
ith
 M
36
 G
r 
8.
8 
bo
lts
)

0 14.04.09 Issued for Construction SW JAV  
Rev. Dato Tekst Tegn. Kontr. Godkj.

Workin
g ran

ge 1

Min 
60° 

wrap
ped

Max
 90°

 wra
pped

Max
 DL 

600 
kN P

ull

Working range 2
Min 60° wrapped
Max 120° wrapped
Max DL 540 kN Pull


